BFFE)—S N1

141, 23—K) BEMEd Sun Friend BB FIASHBTS R [[:4ia
1 - 3 = 2 5 = = 0 6 1
2 |[Sun Friend| 2 = 3 5 = = 0 5 2
3 B ™ +B 0 = 5 0 = 5 = 4 3 4
4 |mamAsxzrs| 0 - 5 0 = 5 4 = 4 3
2#1(4, 5a—F) FIENZEHRA HDOTITC Erm+B Em+B = JE AL
1 Bl %0 78 B A 2 = 3 5 = = 1 5 2
2 |BoryTC| 3 - 2 5 - - 1 6 1
3 E@E&B 0 - 5 0 = 5 = 5 3 4
1 [EF#mbc| 1 = 4 1 = 4 5 - 4 3
34 (3a—h) EBPA EFERA HEFB B (R
1 2B HA 2 = 3 5 = 3 2
2 |Lx#bA| 3 - 2 5 = 4 1
3 B & B 0 = 5 0 = 5 2 3
440 (63—F) ZIRHPA Zli+B FI%1ZE-RC B = Bz
1 & $A 3 = 2 2 = 3 2
2 Z1L+B 2 = 3 3 = 3 1
3 & ZEHRC| 3 = 2 2 = 3 3 3
5#(72—4) ZIhA LFEFB E[5HC B = gz
1 | & wes A 4 = 1 4 = 4 1
2 tFHFB 1 = 4 2 = 2 3
3 #B HC 1 = 4 3 = 2 3 2
3F—LTOvY HE1HE 2—-3 F28HE 1-3 FE3HE 1-2
4F—LTOvY E1HAE 1-4 H2HE 1-3 ¥E3HE 1-2
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BFFEI)—T N2
6#8(8a—*h) TBRIHA FI%Za+B —f&R+$B B = B L
1 | ® @A 4 - 1 - 4 1
2 f %1 28 B 1 = 4 = 3 2
3 R +B 0 = 5 0 = 5 2 3
74(93—k) EmPA #i5HB JBEPC B (R
1 EmHA 1 = 4 = 1 2
2 | =B H+B| 4 - 1 = 2 1
3 B C = =
84 JIFE HEHA FI%1ZE D B R IR fL
1 JLTI:i- ] 4 = 1 = 4 1
2 T B & A 1 = 4 = 3 2
3 FIZ1ZE R D| 2 = 3 2 = 3 2 3
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